o
[N

o
N

0.

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

...........

............

3

0

1 2

3
TP n (PCA to beamline)

o
[N

o
i

< d cot(B) >
o
[
[6)]

.............

..............

4
4

fah

(k=]

(oS AR RARAN LA LARAI

N
N

-1

0 1 2

3

TP n (PCA to beamline)

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

-1

0

1 2

3

TP n (PCA to beamline)

iy

9

[N RS RS RARAN LALLM

(k=]

0

1 2

3

TP n (PCA- to beamline)

— 100

Elf s E AL L. ...
r b . !

| N | -4 4 EE - - - -
o L1331 L.
o : ¥

E : 18}

OF : M
I HE AR AR AR AR 1NN A 1A
28111 o
o E 1

1—- pd & - |

E i I 1y

E i b f H 4

oF : . : :

=3 -2 -1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


